| SR | BAREEW | txB d SR R R c H

40A 63 2.0%x25 W3/8 M8 x 25 24 97

50A 16 2.0x25 W3/8 M8 x 25 24 100
65A 92 2.0x25 W3/8 M8 x 25 24 107
15A 105 2.0x25 W3/8 M8 x 25 24 117
100A 131 2.0%x25 W3/8 M8 x 25 24 130

‘ 125A 159 3.0x32 W1/2 M10 x 35 30 165

RN ;
| / N |
|/ \\\
7{ — @ )‘ — } f2a) 150A 186 3.0%x32 W1/2 M10 x 35 30 180
I\ }
|

d(RARIL +E)

FEAARILEF Y b

N

T e TPRAURA A

i SPHC e+ OE I R B

%5 HE wRE BE A%
=15k
o 10110010146 Fovte A1

._‘I A SHEET

NICHIE] = S = = . o
‘ rvickiel 2 A Ty RSt evssm| A3




